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Answers of all the questions (short answer as well as descriptive) are to be given in the main answer-book onl:
Answer of short answer type questions must be given in sequential order. Similarly all the parts of one question of
descriptive part should be answered at one place in the answer-book. One complete question should not be answered

at different places in the answer-book.
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No supplementary answer-book will be given to any candidate. Hence the candidates should write the answers

precisely in the main answer-book only.
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Write your roll number on question paper before you start writing answers of questions.
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Attempt five questions in all, selecting one question from each unit.
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UNIT-1/3ahTE-1

Discuss HSAB principle with suitable examples.
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i. (z)
HSAB fagia 1 39gd 32 wfeq aasmzy |
(b) Explain with reason.

i) BH, is a soft acid whereas BF , is hard acid. <

(ii) (02" is a limiting acid, while [(,‘u((,‘f\')sj" is a soft acid 2
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What do you understand by symbiosis ? Discuss with suitable example.
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What are the limitations of HSAB concept ?

HSAB STEUROT st HHE 82 |

Select hard acids and soft acids fli(‘)}:;l the following acids.
AlH,, Be?", Pd2*, CO,. Na*, Ag"-BH,, GaCly.

oyt et R AR Sl 9 773 ST A S

AlH,, Be?*, Pd2*, CO,, Na*, Ag". BH;, GaCly.

UNIT-II /3ehts- 11

On the basis of crystal field theory explain why ?
o &5 fagr ¥ STER T §HAEY, Fi 2

@ Ks[FeFgl complex is more paramagnetic than KS[Fe(CN)G].
Ky[FeFq] €5, Ky[Fe(CN)g] THepet QSR AT 2l

(A1) Magnetic moment of [1\/In(CN)6]3+ is 2.6 B.M. whereas that of [1\/InBr4_]2 ~is5.9B.M.
[Mn(CN)4]3* bl Rt=CaR aTe[Oi 2.6 B.M. % St&ifes [MnBr, ]2~ %15.9 B.M. |

(ii1) Tetrahedral complexes are always high spin type.
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Classify the substances on the bdsis of magnetic behaviour. Discuss each of them.

WW%WWWW%WW| T ! TR |

~
What do you understand by sp%only formula ? How is it related to number of unpaired
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2
electron ? o
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UNIT-III //geTs-111
fixplain LMCT and MLCT transition with examples. 4
[ MOT SR MLCT HgH01 ol S Hfed Tz |
Find ground state term for d2 and d® configuration. 1ts
a2 3ﬁ1d5fa?zraézmmm&ﬂzﬁﬁaﬁaﬁn
Give orgel diagram for 4! and d? state in an octahedral field. 1te
e G H d) et d? qepren % for shier StvE ST |
What is trans effect 7 Discuss thE%-bonding theory of trans effect. 1+3=4
St g N B 7 2rE A et T o THeEd |
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How do chelate effect affect the Ht/gb‘lllt)’ of a complex ?
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UNIT-1V /ShTE-IV
7. @
fA(iv) & weefas A R Sn o 7 w1 faferr, i vd deEe ) amemed |

(b) Write the names of the following corr}pounds.

@ (CHpFe  G)  (CHy)4SyBr (i) C,H MgBr (iv) Me,Si
T Avfirent & w1 fafad )
()  (CgHpFe (i) (CH:,):,SI'}}# (i) C,H;MgBr (v) Me,Si
)
What are carbonyls 2 How are they classified ? Explain the structure of Ni(CO),.

T T E? 3% Y oriied fFA T2 Ni(CO), T =1 I THAE |
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UNIT-V /SahT3-V

9. Describe the structure of haemoglobin and mention its function.
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10. What are silicones ? Describe their preparation and applications.
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Discuss preparation, properties and structure of organometallic compound of tin(iv) R ,Sn.
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1Y+1%+3%2=6"2

5+1Y=6%

2+2+2Y2=6"2
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